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Subtract 198 from 202.
5
4

8 0
+ 9

7 6 1 5

Divide and write remainder.

608 is how much more 
than 86? 4 3

x 3 5
7 9
3 1

+ 5 8

86 1 0 0 1

Divide and write remainder.

4 9 0
+ 6 9

7 2 8
1 7 7

+ 9 8 9 5,
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Write the place value that is 1,000 times as great as the hundreds place.

What number is halfway 
between 54 and 60?

Rosa has $39.  She wants to 
buy something that costs 
$96.  How much more does 
she need?

___ ÷ 8 = 3

18 ÷ ___ = 9

12 + 1 + 9 - 8 How many hundreds are in 
the number 180,000?

How many feet are in 60 inches?

 feet

Cross out the prepositional phrase in 
the sentence.
Tonight I have dance at 5:30.
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Rose was curious about what day will be her teacher's birthday.  Today is Friday, and it is 

the 97th day of school.

"My birthday will be celebrated in 14 school days.  There are 5 days each week for school 

and there are no upcoming holidays.  Anyone know on what day of the week will be my 

birthday?" asked Mrs. Jones.

9n = 63
???
12

 = 4

What is the missing 

number?

 

N
3

 = 9

What is the value of N?

 

7n = 28

Megan bought six candy 
bars.  It cost $3.24.  How 
much did each candy bar 
cost?

Which number is a 2-digit 
odd number?

Which number has exactly 
3 millions?
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Connor could run the 
1000 meters in 5.8 
minutes. At that rate, 
how long would it take 
him to run 2 kilometers?

Jenna planted some 
trees on Arbor Day. The 
elm tree was 1 yard tall. 
The cherry tree was 27 
inches tall. How much 
taller was the elm tree 
than the cherry tree?

Kevin's father is a police 
officer. He works from 
8:30 a.m. until 4:45 p.m. 
for four days each 
week. How long does 
Kevin's father work in a 
week?

10 x 3 = 7 km = m
Mary wants Amanda to guess a two digit 
number.  She tells Amanda that her 
number has two different digits.  The 
digits are 3 and 7.  Amanda thinks.  She 
then guesses the number 73.  What are 
the chances that Amanda has guessed 
correctly?

4 6
+ 4 7

1 cm = 10 mm

18 cm = mm

8 5 0
- 5 0 2 9 0

- 2 2

Insert a comma in the appropriate 
place in this sentence.
Jamir is going to Montana this 
summer and Noah is going to 
Arizona.
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Anne has two favorite 
numbers.  If you add her 
favorite numbers, you get 14.  
If you multiply her favorite 
numbers, you get 33.  What 
are her mystery numbers?

Circle the addition property 
for 46 + 106 = 106 + 46.

associative property
commutative property

2 9 6
+ 3 4 2

10 x 3 = 
The principal of your school wants to buy 
twenty-two books.  Each book costs $11.70.  She 
wants to estimate how much it will cost.  Show her 
how you would estimate the cost:

How far do you think it is 
from your desk to your 
teacher's desk?  Write an 
estimate of the distance you 
think it could be.

54 ÷ 9 = 

Can 765 be evenly divided by 5? Circle:
765 is evenly divisible by 5
765 is NOT evenly divisible by 5

Which is the largest?

82.9 ÷ 7.5 82.9 ÷ 7.4 82.9 ÷ 7.6

word root ar can mean relating to lunar, solar

55 ÷ 11 = 
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If you multiply 310 x 332, you will have a number 
that is how much bigger than 155 x 332?

It will be eight times as big.
It will be five times as big.
It will be nine times as big.
It will be twice as big.
It will be six times as big.
It will be three times as big.

What time is 15 hours after 
4:00 a.m.?

Draw a shape that has between 
four and seven lines.  The shape 
should have at least one line of 
symmetry.  Show the line of 
symmetry using a dotted line.

Can 254 be evenly divided by 10? Circle:
254 is NOT evenly divisible by 10
254 is evenly divisible by 10

Circle the greatest number:
6,470 469,015,728,398
12,352 7,498,356

Can 864 be evenly divided by 9? Circle:
864 is evenly divisible by 9
864 is NOT evenly divisible by 9

word root magn can mean great magnificent, magnify

Write a letter that has two or 
more lines of symmetry.

11 x 12 = 

Circle  the  pronoun(s)  in  the  
sentence.

She  wore  a  pretty  red  skirt  
and  a  blue  scarf  around  her  
neck.
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7 + = 9 = 2 1 4 6 0 6 3 6 5 0 3 1
2 = 2

Use the pieces above to help you fill in the runaway math puzzle.

13 22 31 40 49
58 67 76 85 94
103 112 121 130 139
148 157 166 175 184

Look at the chart.
The number 31 is in the
3rd column of the 1st row.

What number is in the
2nd column of the 3rd row?

If the pattern continues,
what number would go in the
5th column of the 7th row?

How many digits are in ten 
times ten?

word root com can mean with or together commemorate, commotion, compose

For 6,265,723,577,311,186, write 
the digit that is in the ten 
thousands place.

Circle the smallest number:
5,041
59,481

94,093,762
620,733,715,826

8 4 1 2 6

+ -

2 5 4

+ 6 + 2 = 0 = =

0

5 + 8 = 1 8 + -

0 6 + - 3 = 7 - 4

= 0

+ 1 = 4 =

9

0 + 2 = 7 - 4 5 - 2

- 6

8 - = 9 - 3
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The block below is the sum of the two blocks above.  Fill in the missing blocks.

12.6 2 7.2 18.8 19 11.9

37.8

389.5

4
9 9

7 2
3

20

Write a letter that has a line 
of symmetry.

In the number 85,315,228, the digit 1 is in 
what place?

84 ÷ 12 = 
Choose the word that best completes 
the sentence.
(Their/They're) coming over for 
lunch tomorrow.
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Find 2 equations hidden in each box.  Good luck!

3 - 1
2 2 - 1 1

90

8

3

Write 2 equations:

23 + 5

28

91 + 8 99

105
1 + 91

87

27 + 6

43

8 + 36

84

71

2523

93

29 78

Write 2 equations:

9 x 9

81

7 x 4

28

4 x 9
3 x 68 x 1 5

12
8 x 5

30

9 x 81 x 0

4232

64
1

Write 2 equations:
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+ + + =

+

=

78

52

22 36 42 ?

C C C B

A B C B

Each letter is a whole number.

Fill in the equations using the chart:

C + C = 42 C + C + C + = 78 + = 36

+ = 22 + + + = 52
Additional hints:

C = B + 6 B < 18

Equations and Hints:

? =

Solve:

Show Work:
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